15. y = —cos %a:
amplitude = 1, period = 67
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19. y=cos(z~ %)

amplitude = 1, period = 27,
phase shift = %
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23. y=>5cos(3z— ) =5cos3(z — 5)

amplitude = 5, period = Z,
phase shift = 75
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27. y=3cosw(z+ 1)
amplitude = 3, period = 2,
phase shift = -1
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y = 3cos3rzx
amplitude = 3, period = 2
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Y= —2 sin(w - g—r)
amplitude = 2, period = 2,
phase shift =

YA

1

z
6

2 Sn 1 1
\3711-‘—»*-
-1

y=2sin(3z— %) =2sin2(z - 1I)
amplitude = 2, period = 3,
phase shift = T
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y=—3cos(2x — §) = —}cos2(z — I)
amplitude = %, period = ,
phase shift = %
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